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QUESTION 1

Which three statements are true about unplugging a pluggable database (PDB)? (Choose three.)
A. A PDB must be in closed state before it can be unplugged.

B. A PDB must have been opened at least once after creation.

C. A PDB must be in MOUNT state before it can be unplugged.

D. PDB data files are automatically removed from disk.

E. An unplugged PDB can be plugged into the same or another container database (CDB).
Correct Answer: ABE

A: To unplug a PDB, you first close it.

E: You can disassociate or unplug a PDB from a CDB and reassociate or plug the PDB into the same CDB or into
another CDB.

Incorrect Answers:
C: The PDB must be in a closed stated, not in a mounted state when unplugging it.

D: The unplugging operation makes changes in the PDB data files to record that the PDB was properly and successfully
unplugged. Because the PDB is still part of the CDB, you can back it up in Oracle Recovery Manager (Oracle RMAN).

References: http://www.oracle.com/webfolder/technetwork/tutorials/obe/db/12c/r1/pdb/pdb_unplug_plug/
pdb_unplug_plug.html

QUESTION 2

Your database is running in archivelog mode. Examine the parameters for your database instance:
LOG_ARCHIVE_DEST_| =\W\LOCATION=/disk1l/arch MANDATORY\\' LOG_ARCHIVE_DEST_2
=\WLOCATION=/disk2/arch\\' LOG_ARCHIVE_DEST_3 =\\LOCATIO=/disk3/arch\\' LOG_ARCHIVE_DEST _4
=\WLOCATIONSs/disk4/arch\' LOG_ARCHIVE _MIN_SUCCEED_DEST =2

While the database is open, you notice that the destination set by the log_archive_dest_1 parameter is not available. All
redo log groups have been used.

What happens at the next log switch?

A. The database instance hangs and the redo log files are not overwritten.

B. The archived redo log files are written to the fast recovery area until the mandatory destination is made available.
C. The database instance is shutdown immediately.

D. The destination set by the LOG_ARCHIVE_DEST_1 parameter is ignored and the archived redo log files are created
in the next two available locations to guarantee archive log success.
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Correct Answer: D

QUESTION 3

You plan to use the In-Database Archiving feature of Oracle Database 12c, and store rows that are inactive for over
three months, in Hybrid Columnar Compressed (HCC) format.

Which three storage options support the use of HCC? (Choose three.)

A. ASM disk groups with ASM disks consisting of Exadata Grid Disks.

B. ASM disk groups with ASM disks consisting of LUNS on any Storage Area Network array
C. ASM disk groups with ASM disks consisting of any zero padded NFS-mounted files

D. Database files stored in ZFS and accessed using conventional NFS mounts.

E. Database files stored in ZFS and accessed using the Oracle Direct NFS feature

F. Database files stored in any file system and accessed using the Oracle Direct NFS feature
G. ASM disk groups with ASM disks consisting of LUNs on Pillar Axiom Storage arrays
Correct Answer: AEG

HCC requires the use of Oracle Storage ?Exadata (A), Pillar Axiom (G) or Sun ZFS Storage Appliance
(ZFSSA).

Note:

Hybrid Columnar Compression, initially only available on Exadata, has been extended to support Pillar Axiom and Sun
ZFS Storage Appliance (ZFSSA) storage when used with Oracle Database Enterprise Edition 11.2.0.3 and above

*

Oracle offers the ability to manage NFS using a feature called Oracle Direct NFS (dNFS). Oracle Direct NFS
implements NFS V3 protocol within the Oracle database kernel itself. Oracle Direct NFS client overcomes many of the
challenges associated with using NFS with the Oracle Database with simple configuration, better performance than
traditional NFS clients, and offers consistent configuration across platforms.

QUESTION 4
Which three statements are true about automated maintenance tasks? (Choose three.)

A. Predefined maintenance tasks consist of automatic optimizer statistics collection, running Automatic Segment
Advisor, and running Automatic SQL Tuning Advisor.

B. A repository is maintained in the SYSTEM tablespace to store the history of execution of all tasks.

C. They run at predefined time intervals that are intended to occur during a period of low system loads.
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D. An Oracle Scheduler job is created for each maintenance tasks that is scheduled to run in a maintenance window.
E. A maintenance window is automatically extended until all the maintenance tasks defined are completed.

Correct Answer: ACD

QUESTION 5

Which statement is true about Enterprise Manager (EM) express in Oracle Database 12c?

A. By default, EM express is available for a database after database creation.

B. You can use EM express to manage multiple databases running on the same server.

C. You can perform basic administrative tasks for pluggable databases by using the EM express interface.

D. You cannot start up or shut down a database instance by using create and configure pluggable databases by using
EM express.

E. You can create and configure pluggable databases by using EM express.

Correct Answer: D
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